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[1] 30[°ClmiEA 5 kgl iz, 0Cloxk 2 [kgld ANiz, BUBRITAWVW S D &L LT, BEMHCELR
HORE t2RD L, B, KOBMEFBEUL r= 2334 [kd/kg)], KOEEE c=4.2 [kIike K& 35,

BAMNQ [C] ihprof LRE LT RRDEEER Ql X l=mXeX At=5X4.2X30=630 [kJ](10 )
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m = RXT,  260x%{(40+273) 19.'7 kel m =19.7 [ke]
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V, = =2 = e e = 152 [m7] V=152 [(m?]

(B) SATERWT, BIRREF2RVROBELRES LILEE, BROREX =30 [C] ik
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ma= mutme=197+4=237kgl, Va= Wi+ T2=2+ 1,52 = 3.52 [m3]

ps = "‘3’;"”3 =% ”‘262’;(23"*”3) =0.530 x 10 [Pa] p3=0.530 [MPa]
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1. 1oL oz, FroRNOKRERIZEoTMEEATEY, U2 IKEEANED D<)
A—EBREHEINTVWD, ZIZ T, K, FA4 B L OKBOBEIX TN ER1000kg/m?, 850kg/m33 L ¢
13600kg/m* & L, < /) A—F NOFEEE TORIIEEFNE, =0.2m, h=03mi3 & Uh:=0.46mTdH
h., =/ A—FOBEEORARKICEKENTVS, UTOEEZRD I, 218 (7THX3) of
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(1) EEOTDESP;
(2) EEQTOENP,
(3) #r7AKEDOTOEAP,

(1) P; = ppghs = 13600 x 9.8 X 0.46 = 61.3 kPa

(2) Py=P;—pogh, =61.3x10°—850x9.8x0.3=588kPa Mekcury

(3) P, =P, ~p,gh; =588 x 10% — 1000 x 9.8 X 0.2 = 56.5 kPa
1
R -
(1) 61.3 kPa
(2) 58.8 kPa

(3) 56.5 kPa

2. E2imT &9 R kHENEREQ=0.15mY s TELNP N TW5, BiEmDIZBIT BEHPH30
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o o HRER
3 EVlz““ P =EV22 + Py (1) 29.8 mfs
“Pp=P +§(V1"' - V,%) =30 +—1~'23x (29.82 — 13.3%) = 457 Pa (2) 13.3 m/s
(3) 457 Pa
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== T o & - THRALIZEL
Y = 10x10-% 8844 > 2300 > T ELIR 0.58 MPa

L 100 850
»AP = A-—§V2 = 0.03 X ==ms X

it 2 _
3 513 > X 7.37 0.58 MPa



